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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVo
a——a—aE a6 O & -t -t & & an i —alb—abh—alh—ab

—o— dFVI
+

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

day

—&— DUC

0. 04 -
0.02 -
0. 00 -

0. 02 -

0. 04 -

600 -
500 -
400 -
300 -
200 -
100 -

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

day

o
IIIIIIIIIIIIIIIIIIIIIII 0. o o —————— e — ———— S ——— — = — —
~
®
o
~
©
— ®
o
)
©
o
N
©
o
o
%)
>
©
©
[Te)
~
o
o
)
[{p]
o
N
o
o
o
> i) )
@ &
o o
T T T T T T T T T T T T
© © © ©o© ©o o o o © ~ © o
S L © L © L & b < < < <
< (9] (9] N [aV] — ~— © © [{=] o
o o o o

70.0

67.5

65.0

62.5

60.0

57.5

55.0

52.5

50.0

day



400

300

200

100

30.0

21.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2500

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['1", "lopt'], ['T", 'Topt'], ['RH', 'RHopt’], ['ETcl’, ’'optETcl'], 'LAl",

"optEtRate’ ]

~L WLy =S —
AT VS T A W e
(A JYETY
o
| TN — .
. | A
. I AN A
V) \v/\Vp /\v/ i v‘vTi
M
| | | =
ot p
o - U A ﬁl"\/\’\/J\
VYL, B
Y| |
v i
WW ey,
'Aﬂn i
Wy g
P \.
pd s \
e 5 .
e i Y
| M m—
ANy A A MV ATV e ——
R LDV
| i
| |

o

25

50

5 100 125

150

175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-3

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:30 273 150.0 2.583 S| {Ri%@06:30 B3 (KRAMERSE)
07:25 273 150. 0 2.583 E BRi&e07:25 Ba1 (GREERESE)
08:40 273 150.0 2.583 (Z=| {Ri%e08:40 Bzh (FAERSE)
09:30 273 150.0 2.583 FA| {Ri%@09:30 Bz (RkA{EREE)
10:15 273 150.0 2.583 FA| {Ri%@10:15 Bz CGRAEESE)
11:00 273 150.0 2.583 FA| {Ri%@11:00 Bz (GRAEEE)
11:45 273 150.0 2.583 FR| {Ri&@11:45 Bz CGRAERESE)
12:25 273 150.0 2.583 FR| {Ri%@12:25 Bz CGRAEESE)
13:15 273 150.0 2.583 |Z=| {Ri&e13:15 Bzl (REEZERE)
14:00 273 150.0 2.583 (Z=| 1Rig@14:00 B3 (RAERSE)
14:50 273 150.0 2.583 (Z=| {Ri%@14:50 Bz (REAEBSE)
16:10 273 150.0 2.583 (£=| 1Rige16:10 Bz (RAEDSE)
17:25 273 150.0 2.583 |Z=| {Ri&e17:25 Bz (REEZBE)
23t 3549.0 (13%) 1950. 0 3Z U KEC: 2080.0, PH: 6.0

#HEKRECE (1773.0 vs 3850.0) id 5
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P3-3

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

08:35 273 150. 0 2.583 E  1BRi&e08:35 Bzl (RAERE)
09:15 273 150.0 2.583 5| {Ri%e09:15 Bz (FRAERSE)
10:00 273 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 273 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:20 273 150.0 2.583 =l RiB011:20 B3 (REAEESE)
12:00 273 150.0 2.583 =l {Rige12:00 B3 (RAERSE)
12:40 273 150.0 2.583 Sl {Rige12:40 B3 (REAERSE)
13:30 273 150. 0 2.583 E| {Rig@13:30 B3h (RE{ERSE)
14:20 273 150.0 2.583 E BRige14:20 Bz CGRAERESE)
15:10 273 150.0 2.583 S| {Rige15:10 B3 (RAERSE)
16:05 273 150. 0 2.583 E BRige16:05 Bzl (GRAERESE)
17:10 273 150.0 2.583 E| {Rige17:10 Bzh (RE{EREE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

##[EKECE (1780.0 vs 3600.0) d 5
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164 Warning: lcol ['FVI', '"FVO'] missing
0 + -0
200 4w vi —— ME HA30
150 -
100 4
50
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=6.0 t
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
908- 1 4
ByIniﬂ @D70 01:45: ET=1692 Fg=2100.0 Ro=410.0 " 3000
1
1
: - 2000
1
1
: - 1000
1
1
308- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
i | B | BB | B | BB | BB BB B 5 5 i 5 5 5 i 5 5 5 5 & | 3000
1
200 4 ByEt @D67 19:07: ET=1924 Fg=2400.0 Ro=nan < ‘I S © & ©
_____ ! L 2000
100 4 L 1000
1 0
308- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
g | B | B | B | B |KB|[B|B|B|B| B 5 5 5 i 5 5 5 i 5 5 5 5 & | 3000
1
200 4 ByWoFv @D70 01:45: ET=1516 Fg=1800.0 R0o=390.0 <
: - - 2000
1
1
: - 1000
1
1
0
0.6 -
0.4 1
0.2 A
0.0
—_— 4

80

60 -

40

: o TN T

o | _obs
—@— PPFD obs

—— RH
[ ] RH_obs
[ ) RHo_obs

RV (ml d-1)

L

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



15.

15.

15.

15.

15.

15.

16.

15.

15.

15.

15.

16.

16.

16.

15.

15.

T
600

860
m=585,n FV0=0

M_E

560 565
m=725,n FV0=0

750 7é5
m=865,n FV0=0

E

i
-

870 875

14.

14.

14.

14.

13.

13.

13.

15.

15.

15.

15.

15.

16.

16.

15.

15.

15.

16.

16.

16.

16.

15.

15.

m=455, FV0=0

M_E

4é0 4é5
m=620,n FV0=0

455

—o— ME

T T
620 625 630

m=755,m FV0=0

1T —e— MmE

~ [ee] © o -
1 1 1 1

7é0 765
m=900,n FV0=0

755

-o— ME

900 905 910

m=495, FV0=0

15.0

14. 8

14.6

14. 4 -

—0—

M_E

560 565
m=655,n FV0=0

15. 80 -

15. 75 A

15. 70

15. 65 A

15. 60

657.5

T
660.0

66&.5 665.0
m=785,n FV0=0

T
667.5

16. 10 ——
16. 05
16. 00
15. 95 1
15. 90 ~

15. 85 -

15. 80 A

M_E

785

750 7é5
m=945,n FV0=0

16. 2

——

16. 1 A

16. 0

15.9

15. 8

M_E

945

950 955

15.

15.

15.

15.

15.

15.

15.

15.

15.

15.

16.

16.

16.

15.

15.

15.

16.

16.

16.

16.

16.

15.

15.

m=540, FV0=0
47 e M_E
3 .
2 .
1 .
0 .
540 545 550
m=690,m FV0=0
97 —o— M_E
8 .
7 .
6 .
5 .
690 695 700
m=830,m FV0=0
27 —o— M_E
1 .
0 .
9 .
8 .
7 .
830 835 840
m=985,m FV0=0
20 17 _@— M_E
15
10
05 -
00 -
95 -
90
985 990 995




16.

16.

16.

16.

16.

15.

15.

21.

20.

20.

19.

22.

22.

21,

23.

23.

22.

m=1040, FV0=0

20 1 _o— M_E
15 -
10
05 -
00 -
95 4
90
T T T
1040 1045 1050
m=540,m FV0=0
07 —o— MW
5_
0_
5_
T T T
540 545 550
m=690,m FV0=0
—— MW
5_
0_
5_
690 695 700
m=830,m FV0=0
—— MW
5_
0_
5_

835 840

21.

21.

20.

20.

23.

22.

22.

21.

24,

23.

23.

22.

T T T
600 800 1000

m=585,m FV0=0
5] —@— MW
0 .
5 .
0 .
585 590 595
m=725,m FV0=0
0 —— MW
5 -
0 .
5 .
725 730 735
m=865,m FV0=0
01 —o— MW
5 .
0 .
5 -
865 850 855

18.

18.

18.

17.

17.

17.

22.

21.

21.

20.

23.

23.

22.

22.

24.

23.

23.

22.

m=455, FV0=0
A1 —e— M_W
2 -
0 -
8 .
6 -
4 -
455 4é0 465
m=620,m FV0=0
0l —@&— MW
5 -
0 -
5 -
620 625 630
m=755,m FV0=0
517 —— MW
0 -
5 -
0 -
755 760 765
m=900,m FV0=0
0 - —— MW
5 -
0 -
5 -

900 905 910

20.

19.

19.

19.

19.

18.

18.

22.

22.

22.

22.

21.

21.

24,

23.

23.

22.

24.

23.

23.

22.

m=495, FV0=0

00 A

75 A

50 -

25 A

00 -

75 -

50

M_w

560 565
m=655,n FV0=0

—— MW

657.5

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
660.0

0_

—— MW

7

760 755
m=945,n FV0=0

785

- MW

iy

945 950 955




m=985, FV0=0

24.5 e MW
24.0
23.5 A
23.0
T T T
985 990 995

m=1040, FVO=0
—— MW

24.5 A
24.0 A
23.5 A
23.0 A

T T T

1040 1045 1050




hour

110
:55
140
125
110
:00
:55
155
:05

100

80

- 60

- 40

WA R WA
Fed a8 @& S
] VX X

'

§_

7
L
N
4
2

%

Ng
%

2

R
-



P3-3

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS ERE

07:10 300 150. 0 2.583 E BRi&e07:10 Fzh CGRAEREE)
08:00 300 150.0 2.583 5| {Ri%@08:00 F 3 (FFAAERSE)
09:15 300 150.0 2.583 = RRiB009:15 Fzh (RFAEEE)
10:10 300 150.0 2.583 =l RRiB@10:10 Fzh (REAKEE)
10:55 300 150. 0 2.583 El 1BRi&010:55 Fzh CGRAEREE)
11:40 300 150.0 2.583 =l Rige11:40 Fz (RAERSE)
12:25 300 150.0 2.583 Sl {Rige12:25 Fz (RAERSE)
13:10 300 150. 0 2.583 E| {Rig013:10 Fzh (GREERSE)
14:00 300 150.0 2.583 E BRige14:00 Fz1 CGRAERESE)
14:55 300 150.0 2.583 S| {Rige14:55 F3 (KRAERSE)
15:55 300 150. 0 2.583 E  BRi&e15:55 Fz1 (GRAERERE)
17:05 300 150.0 2.583 F BRige17:05 Fz1 GRAERESE)
24t 3600.0 (12%) 1800. 0 32 KEC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.

#[EKECE (1860.0 vs 3623.0) T
RER B HEREC/PHIE Rk, AT RERNIHRELR SR
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